mE /AaHmI5E®

A T KR
_ S 4 & 128 128 AEH
y wr = X

%% b E A BE B T N | 6

1| K& | B4R | Kt | Fuw| 1 1 3k | L #YEHHO

2 1 2 25k | DL #uEHO
3

4 R | 5 | & | 1 2 2k 10 #uEHO
5

6 =40 | EE |[prray| 2 2k 5 BRYLS

7 1 2 1.5k 5 BB 1L
8
9

10| BA | &350 | BE |preay] 1 1 10k | 10 BIRY
11

12 =50 | BB |prvay| 1 |25-3k| 4L BiRY
13

14 = | R= | BH] 1 2 1.5k 10 BIRY
15

16 =& | EK|WT] O 3 1k 10 BIRY
17
18
19

20|V DE| =50 | 1EE [prvan| 1 1 3k 5 BiEY

21 1 2 1.5k 5 BiRY

22 1 3 1k 50 BizY
23
24
25

MEHR = [ Ofk - 14k - 2%k 1 TEA
O+ 1 BKiZIF




